)

!
>\ 0
65° .
A 105 > > 5
y X
C o — D
\
AB is parallel to CD.

(a) Work out the size of the angle marked x.

e dOS

Give a reason for your answer.
- LONRSDONMOG. X0 OOCNC. U .
................................................... =

(b) Work out the size of the angle marked y.
10 — &S

....... WS
(2)
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e

Use ruler and compasses to construct the perpendicular bisector of AB.

You must show clearly all your construction arcs.

f

S
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79, The diagram shows two lighthouses.

A boat is within than 8 miles of lighthouse A.
The same boat is within 6 miles of lighthouse B.

Shade the possible area in which the boat could be.

1cm = 1 mile

Land

o>

B
G v——

Sea R v/
i ,;" ,f/ ,"/’, 4

(2)
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Shown below is a trapezoid prism.

Bbcm
12cm

8cm

Find the volume of the prism.
\ , )
- L +8)x%x S
A = v (‘6 \
i
= 5 Oa) X S

\/: L X 1T
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-

7 warind

CREPS——— 6 ——

. <d e

e b e

o

e, Lo e

b o

OF) woed

B

SUR——; 2 o

y A

e

Enlarge the trapezium by scale factor 3, centre (6, 0).

(2
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2% Aprimary school has a running track.
It has two straights of 50 metres.
Also there are two ‘bends’ that are semicircles with diameter 30 metres.

oo 130m 30mi ©

Work out the distance around the running track.

o + b = .‘pwl( circle.
c = md
= T X 3C
= B LYY -,

Sy .14 + SO + 59
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The diagram shows a rectangle with a circle cut out.

Not drawn to
scale

20cm

1licm

The rectangle has length 20cm and width 11cm.
The circle has diameter 8cm.

Work out the shaded area.
Give your answer correct to 2 decimal places.

() 20x1l =120

210 - So . LeS. -
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———————

- -~
~
”~ ~

Calculate the volume of the cylinder.

Vo rxvtxle
= T x2x5

Below is a cylinder with radius 2cm and height 5¢cm.
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2 q Triangle ABC has a right angle.
Angle BAC is 25°
AC =12.5cm

C
12.5cm

25° ]
A A B

Calculate the length of AB

Aé: C‘,Q%C’LS\ X \L.S

© CORBETTMATHS 2019

Not to scale



)

- 0

Reflect the triangle in the line y = —1
Label the new triangle B.

© CORBETTMATHS 2019
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Rotate triangle ABC 90° clockwise about centre (0, 0)

© CORBETTMATHS 2019
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ld

Not drawn accurately

F G

9cm
B 8cm

C

5cm

A D E H

Rectangles ABCD and EFGH are similar.

AB = 5cm B L
BC = 9cm .
EF = 8cm S X 16

Work out the length of FG.
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)

X2 - 3x
x2 - 3x for the values of x from -2 to 4.

10

(a) Complete the table of values for y
(b) On the grid, draw the graph of y

\LJY e S N S e v;TAV\ S - - R ?i.v.:wih..v - ,T oo .w o S
- ¢ Tt
L bbb g bbbt e e o e el e =
S et S SRR IR S S O R S S S S S -4 TMJV - e et B SRS S o
4 oo T s S S R R R S et o e e I o e SIS * R R
1 S N
? = 5
At . o boop P .- @E. m — N
e, o . . . = rvw ke 5 - L, A (N -
- ﬁLq = S - - = s . 4
AR SR TR o i = v A B e ? B
| ]
- e o o - b ~ g ¥ S fpcf
- R L S = o g f b fogont g D S s b
-+ v!f - & b B S R . * .v:*i-: e S * g Jw\.r,ﬁ) S =
S S i e e ST N SO S e e A A e 4 R S miv..m -2 wJH . by w;ﬂ.‘. -
bbbt b Bt bbb L, gt [} N b
et T N = & & —pe - _wl be _,LT.IT frndn
i oo - = ;,1?# /
g by oo - b B 3 dplp o R - o S Ao ..w,..., il
o e +_ . -
- < N T N o T\T.hl B o T O | R i S S SN =
£ 1 ] § i
i 4 s SER S S S TR e S pe$- -1 Ao r oo deoe fl o ot pocfrde o pe g | S
3 Py e T I 2 - s L A e H + JWJvH 5 i i 4 e b2
i N ek
W .- e Fs B ot .?;.ﬁw M M_. . v_L.ﬂ .yW.TAI_?.r : b bR -
i i nE T 4 v e d e
[ : i
WS e S - RS = .:* ety . e ‘
. 8 t S . o % " -
N
O T i e B w 4 e -ttt 1 -+
e o e -ttt $4 . 1 1 .,:v‘»}; L - & -
i 0 e ¥ 4 ¥ rw + T@..w.; ﬁ.«.? i )
RS - g 4 £
| (! 2 3 wJ.F 4
N -
-+ v N dnas ae o éfwé - -y Tt
R = B o Bt o 111 3 ‘T_q\.w ~ 4 pp - b-s s_T,T,.) -
" - 2 1t e R B * . -
5 o § 3 e
{ i : T '
3 %
T e 3
. e 4 . m
, = 3 H 3 LR - T«F«..T‘IW T -
= 4 o
1 i - : 1 T
] 1 i 1 £
1 - : i 11 T 1 i &
R B an St S o5 o 3 gE iRt BE B 4 G e o amam o i S -
44~ - e S SR S e Rt - Loy
f gt ’ -4+ . »
4 | T T 1 i 4 1
=t p f p 4
-t L ‘E«{m, e et TR 3 R R
L zw 3 3 t 3 |
i H £ =1 ]
gt , AR ‘ p - .
b - R ae = - o 4
! J 2k " 4 I8 3
358 1 2 Y 3 Y
+ 2 bodos it :m.
o ‘13 i : ¢ X 1 13
3 > RERN NN AR T TitTTrIt ¥
: T 1 =+ 1 j
;. — -5 3 . H " . . $~b : il &
gass I NRESANENES SEAREN BRSNS PEN i AR REN
- € —4
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Solve the simultaneous equations

2X + 4y =26

X-y=4 X

Do not use trial and improvement
[ Wiy S '\—\\j = e

+ e &

S

= \\\j:Lk

ih X - 1\

Y=

Q-ﬂ:
Lj

—
=S
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5x + 3

2X 2X

3x+9

The diagram shows a rectangle. The sides are measured in centimetres.

(a) Explainwhy 5x+3=3x+9

............ Oppes.de...sides ol o rectangle Aare

OV . g
................ SRS RI. x ARRURUUSSRD SO
(1)
(b) Solve 5x+3=3x+9
o
A% Bag5-q -
s gr=b =%
=l A 1
> ¢ (P 3 .......... cm
(2)
(c) Calculate the perimeter of the rectangle.
LD em
(2
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| Sport Frequency

Netball 15 L
Hockey 10 %l
Rugby 26 %
Football 9 x i

é’ The table gives information about students staying after school to play sport.

Angle
SO

0
Vs ke
SY

Draw an accurate pie chart to show this information.

© CORBETTMATHS 2019
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4.

7cm at + b L_ "

= Rage 0" =c*

b
10cm LS = o
Shown is a right-angled triangle. C = | L. CAA
Work out the perimeter of the triangle
3 +1IQ0+ilt-1L
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Here are four digits.
9 4 ¥ 5

(a) Use two of these digits to make the largest possible two-digit number.
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(a) Work out the difference between -3°C and 4°C

(1)
At 5am the temperature is —6°C
By 2pm the temperature went up by 9°C
From 2pm to 11pm the temperature went down by 15°C
(b) Work out the temperature at 11pm
....... =1L e
(2)
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_8>\

(@) Work out the output, when the input is 10.
ioX 3 =30

20-% =1L

(b) Work out the input, when the output is 13.
154 F= L1

(c) If the input is the same as the output, work out the input.

© CORBETTMATHS 2019
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= 3

.......... .
(1)
........... KA
(1)
.............. < S
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7; . Thomas has a recipe for making Rice Krispie cakes.
The recipe uses 120g of chocolate and 80g of Rice Krispies to make 12 cakes.

(a) How much chocolate should Thomas use to make 30 cakes?

ik x 50
1L — 1L = |QS pelt coke
30 X \O
....... X2C. g
(2)
(b) What is 120g out of 200g expressed as a percentage?

1 LO LQ

206 ica
.......... O %
(1)
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An airplane has economy and first class seating.
There are s seats in each row in economy.

There are t seats in each row in first class.

There are 8 rows in first class and 18 rows in economy.

Write down an expression, in terms of s and {, for the number of seats on the
airplane.
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Below is a solid.

(@) Write down the number of faces

(b) Write down the number of vertices
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Here is part of a timetable for a bus.

Southville 09 18 10 38 1205

Leek 09 28 1048 | s

Milton 09 41 1100 | ——-

Newtown 09 49 Hoy | ——

Red Island 0955 1115 12 36

Sandville 1013 1133 | ——eeem

Bakerstown 10 31 11 51 13 00

A bus leaves Southville at 10 38

(a) At what time should the bus arrive at Newtown?

(b) How long will the journey take?

James arrives at the Milton bus stop at 09 29.
He waits for the next bus to Red Island.

(c) (i) How many minutes should he wait?

(if) At what time should James arrive at Red Island?

Sally wants to travel from Southville to Bakerstown.
The 12 05 is an ‘express’ bus.

(d) How many minutes shorter is the journey if she takes the

© CORBETTMATHS 2019
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(1)

.................... minutes

(1)

‘express bus?’

.................... minutes

(2)



Bilton

23

Newtown

28

30

I?ortsville

23

11

32

Leek

42

67

55

14

Castletown

The table above shows the distance in miles between some cities.

(a) Write down the distance between Bilton and Leek.

James drives from Newtown to Castletown.
He then drives from Castletown to Bilton.
He then drives from Bilton to Leek.

(b) Work out the total distance travelled.

13
4L
* 55
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Below is a line graph that shows the population of a village.

Iy

1050 |  >,%‘.\;‘_%.., e
1000 Pttt e e
950 Fre e L |
900 e e
850 [T | |
750 | s |
700 P e e e e
650 |

Population

1970 1980 1990 2000 2010
Year

(a) What was the population in 19807?

.........................

(b) In which year was the population 700?

The population is expected to increase by 120 by 2020.

(c) Work out the expected population in 2020.

G0 + 120 [ 110
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The table shows the distance travelled to school by 50 students.

Distance (miles) Frequency
O<d¢2 20
2<d<4 12
4<d<6 11
6<d<8 4
8<d¢10 3

(a) Draw a frequency polygon to represent this data.

(2

20
6 e
Y ECEE e HAELARER (SRS SEEEE e

Frequency

01 23 456 7 8 9 10
Miles

One student is chosen at random.

(b) Work out the probability that this student travels more than 6 miles to school.



William is going to attend a two day summer camp at his local leisure centre.
He can take part in one activity on Monday and one activity on Tuesday.

Monday Tuesday

Golf Ice-skating
Football Swimming
Rugby Dodgeball

Hockey Basketball

List all the possible combinations of activity he can take part in.

................................................................................................................................
................................................................................................................................
................................................................................................................................
................................................................................................................................
................................................................................................................................

................................................................................................................................
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Holly works out the answer to 135.66 + 193.88 on a calculator.

Her answer is shown on the calculator.

(a) Round her answer to the nearest 10.

(b) Round her answer to the nearest 100.

(c) Round her answer to the nearest integer.

(d) Round her answer to one decimal place.
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Put brackets in the following statements to make them true

(a)6X(7 +3§—8 = B2

o4 + 3\x@ - 1\: 42

(1)

(1)

Joanne sees this special offer in a shop.

Special Offer

iPod £189
Headphones £25

Buy both items and receive a 4% discount

Joanne buys both items.
How much does she pay?
189G + 1S = 2L\
V. = s Wy
L/ = B8-St

2 14 -%-SU

© CORBETTMATHS 2019
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The angles in a triangle are intheratio 1 : 2 : 9

What is the size of the largest angle?

(ZQ = \L:_'\S
1S X QA = 158 °

....... 5SS
(2)
62 people took part in a talent show
39 of the people were women.
11 people made it through to the final and the rest were eliminated.
5 men made it through to the final
a) Complete the frequency tree
(2)
b) What fraction of the men made it through to the final? é
OSSN
(2)
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13

Jessica is tiling her bathroom wall.

The wall is 240cm by 200cm.
The tiles are squares with side length 20cm.

240cm - = 7't 20cm

e 1200cm

= 1S = VO

Each box contains 15 tiles and costs £8.75.

How much will it cost Jessica for the tiles?

10 1% = 1.
P26 1S s Y

I ¥x ¥ As= Lo
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£§={1,2,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16}

A = multiples of 3
B = multiples of 5

(a) Complete the Venn diagram

é [
A BL\S

G ik
T+ 16

3)
One of the numbers is selected at random.

(b) Write down P (An B)
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